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Multiple Choice

Q.No: 112|3|4|5(6|7(8|9(10]|11(12|13|14|15
{a,b,c,d}
Q. No: 1 The average value of the function f(z) = 25 [0,2] is equal to:
T 1r 7r m
(a) 6 (b) 1 (c) 3 @ 3

Q. No: 2 Let P = {xq, 21,22, ...,Tn-1,Z,} be a partition of [0,2].

Then lim Y Az is equal to:
IIPI|=0 =1

@0 (1 @ 2 @ oo

Q. No: 3 If F (z) =/ sinh (£3) dt, then F'(z) is equal to:

-T

(a) 2sinh(z®) (b) sinh(z®) —sinh(2?) (¢) sinh(z®) +sinh(z?) (d) 0
Q. No: 4 The number z that satisfies the conclusion of the Mean value Theorem for
f(z)=2%on[0,2] is:

8 8 2 2
(@ y/3 (b) - (c) W @ /3
Q. No: 5 If f(z) = 2%, then f’(1) is equal to:
(a) 0 (b) e (e) 1 (d) 2

1
Q. No: 6 The value of the integral / 5%dz is equal to:
0

4 5 In5

@ o ® oz @ 4 @ =

1
. No: 7 The integral | ——————dz is :
Q. No e integral /\/Ecos"’(\/i)dr is equal to

(a) 3tan(vz)+c (b) 2tan(v@)+c (c) tan(yT)+c (d) cos(ﬁ)+c

Q. No: 8 If f () = cosh™ (secz) for 0 < z < %, then f(z) is equal to:
secrtanx

(a) V1+sec? x

(b) tanz (¢) —secz (d) secz



X 1 -
Q. No: 9 To evaluate the integral / ———dux, we use the substitution:

Q. No:

Q. No:

Q. No:

Q. No:

Q. No:

Q. No:

z2\/4x? -9

(@) z=12secd (b) v=3tanf (c) z=3secd (d) z=3sech

: 10 The range of the function cosh (z?) is:
(a) [0,0) (b) [1,00) (¢) (00,00)  (d) (—00,0]
/ In(1+1)dt
11 ilLI(l) g 5 is equal to:
1

(a) 1 ® 3 (c) 2 (d) o

12 The integral / L = dz is equal to:
\/1 + (sin"'z)"V1—a?

(a) cosh™ (cos™'z) +c (b) sinh™!(cos™'z) +c

(¢) sinh™!(sin'z) +¢ (d) sin™!(sinh™'z) +c
13 To evaluate the integral / sin® (z) cos? (z) dz, we use the substitution:

(a) u=sinz (b) u=cosz  (c) u=secx (d) u=sinzcosx

14 The integral / In (2%) dz is equal to:

(a) 3zlnz—z+c (b) 3zlnz—-3z+c
(¢) zlnz -3z +c¢ (d) 3lnz -3z +c
15 The integral / 2: dz is equal to:
eX—4
(a) = & + (b) L par (e*) +c
2 g, T 2

(¢) tanh™ (%) +ec (d) %tanh" (%) +c



Full Questions

dr using the Trapezoidal rule

2
Question No: 16 Approximate the integral / 3:_ T
o T

withn =4. [6]

p =11
Question No: 17 Evaluate ﬁdr. (5]



1

Juestion No: 18 Evaluate /

iuestion No: 19 Evaluate / zcos(z)dr  [4]



Juestion No: 20 Evaluate / tan® zsec? zdz [4]



